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2 back increases 60 mg only 5p7mm

SPMresults:..back_effects_60mg_only_5p7mm
Height threshold T = 4.296806  {p<0.001 (unc.)}
Extent threshold k = 0 voxels

Design matrix
1 2 3

2
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8
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12

contrast(s)

1

Statistics:  p values adjusted for search volume
set level
p c

cluster level
pFWE corr qFDR corr kE puncorr

peak level
pFWE corr qFDR corr T (Z ) puncorr

mm mm mm

table shows 3 local maxima more than 8.0mm apart
Height threshold: T = 4.30, p = 0.001 (1.000)
Extent threshold: k = 0 voxels
Expected voxels per cluster, <k> = 2.302
Expected number of clusters, <c> = 21.92
FWEp: 10.666, FDRp: Inf, FWEc: Inf, FDRc: 22

Degrees of freedom = [1.0, 9.0]
FWHM = 9.8 11.1 12.0 mm mm mm; 3.3 3.7 4.0 {voxels}
Volume: 1294110 = 47930 voxels = 900.0 resels
Voxel size: 3.0 3.0 3.0 mm mm mm; (resel = 47.85 voxels)

1.000 7 0.090 0.030 22 0.004 0.998 0.968   5.88  3.68 0.000 32  3  57 
1.000 0.968   4.84  3.32 0.000 34  6  45 

0.994 0.500 3 0.236 1.000 0.968   5.20  3.45 0.000  10  3  63 
0.664 0.174 9 0.050 1.000 0.968   4.97  3.37 0.000  38  3  48 
1.000 0.500 1 0.500 1.000 0.968   4.41  3.14 0.001 22  39  9 
1.000 0.500 1 0.500 1.000 0.968   4.40  3.13 0.001 28 15  54 
1.000 0.500 1 0.500 1.000 0.968   4.35  3.11 0.001   4   6  51 
1.000 0.500 1 0.500 1.000 0.968   4.34  3.11 0.001  50  3  48 
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2 back decreases 60 mg only 5p7mm

SPMresults:..back_effects_60mg_only_5p7mm
Height threshold T = 4.296806  {p<0.001 (unc.)}
Extent threshold k = 0 voxels

Design matrix
1 2 3

2
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8
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12

contrast(s)

2

Statistics:  p values adjusted for search volume
set level
p c

cluster level
pFWE corr qFDR corr kE puncorr

peak level
pFWE corr qFDR corr T (Z ) puncorr

mm mm mm

table shows 3 local maxima more than 8.0mm apart
Height threshold: T = 4.30, p = 0.001 (1.000)
Extent threshold: k = 0 voxels
Expected voxels per cluster, <k> = 2.302
Expected number of clusters, <c> = 21.92
FWEp: 10.666, FDRp: Inf, FWEc: Inf, FDRc: Inf

Degrees of freedom = [1.0, 9.0]
FWHM = 9.8 11.1 12.0 mm mm mm; 3.3 3.7 4.0 {voxels}
Volume: 1294110 = 47930 voxels = 900.0 resels
Voxel size: 3.0 3.0 3.0 mm mm mm; (resel = 47.85 voxels)

no suprathreshold clusters


